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(1960)

Externk

JKWh)

1.0
0.0006

6.7/

18.3

5.0

0.7




Ewers/Rennings Friedrich Krewitt
1992 1993 1997
0. B B
(1976 ) (1976 )
L 33 27
2.
33.6 4.2 1.15
Sv
3. 168 21 5.75
1 Sv (ICRP=500) (ICRP=500) (ICRP=500)
4,
(vSL) | 600 / 530 / 584 /
10.08 1.113 3360
5.
10.697 1.181 9250
kWh 4.3 /kWh 0.06 /kWh 0.00086 Pf/kWh
ctGDP 3 DM 0.00015 Pf/kWh

Hennicke und Lechtenbéhmer 1999
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WASH-1400 WASH-1400
PWR
131 8.05 8500 3650 59.5 730 - 2540
0.7) (8.6 - 29.9)
5950
(70.0)

137 30.2 470 770 235 100 - 435
(50.0) (13.0 - 56.5)

103 39.3 11000 11000 220 72 - 1040
(2.0) (0.7 - 9.5)

90 | 288 370 550 22.2 22 - 53
(6.0) (4.0 - 9.6)

95 64 15000 11900 60 23 - 400
(0.4) (0.2 - 3.4)

144 284 8500 8570 34 14 - 460
(0.4) (0.2 - 5.4)

241 —- 340 470 0.031 14 - 25
(0.4) (3.0 - 5.3)

(1996)

(1997) US-NRC(1975), Appendix IV7
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0.75[Sv] 3.0
90 1.00[Sv] /
2.00[Sv] 74.0
90 2.50[Sv] /
4.00[SvV] 45074
90 6.00[Sv] VSL /
0.0500[ 7/ 9Sv] 45165
ICRP 1991 VSL /
01235 / Sv] ICRP 196.1
1991 /
0.0100f / Sv] ICRP 75.7
1991 /
(VSL)
(ExternE)

336 4.5
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2052 (2000 )

17.8km
(SEO )
2.453[Sv]
7.86
233
91.3
2695
3.651[SvV]
9927[ Sv]
2952-233
500[/ Sv]
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x 1 +0.3x9 =3.8
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17072 409820
11871 145233
139468



187 81 268
61 340 401
66 391 458
24 79 104
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